$$E_{X}, \quad y'' - 2y' + y = \frac{e^{X}}{X^{2} + 1}$$

0. hom. gol²! $2^{\pm} \sqrt{4 - 4 \cdot 1 \cdot 1} = 0$
 $2 \cdot 1$
 $y_{n}(x) = C_{1}e^{X} + C_{z}Xe^{X}$
 $y_{1}(x) = e^{X}, \quad y_{z}(x) = Xe^{X}$
1. $W(y_{1}, y_{x}) = \int e^{X} Xe^{X} e^{X} = e^{X}(e^{X} + Xe^{X}) - e^{X}Xe^{X}$
 $1. \quad W(y_{1}, y_{x}) = \int e^{X} e^{X} e^{X} + Xe^{X} = e^{2x} + 0$
2. Gabe Galor $u, \leq u_{z}!$

$$\begin{aligned} \mathcal{U}_{1} &= -\iint \underbrace{\mathcal{Y}_{2}}_{W|\mathcal{Y}_{1},\mathcal{Y}_{2}} d\mathbf{x} &= -\iint \mathbf{x} \underbrace{e^{\mathbf{x}} \cdot e^{\mathbf{x}}}_{(\mathbf{x}^{2}+1)} \cdot \frac{1}{e^{2\mathbf{x}}} d\mathbf{x} \\ &= -\iint \frac{\mathbf{x}}{\mathbf{x}^{2}+1} d\mathbf{x} \quad , \quad \text{sub} \quad \underbrace{\mathbf{w}}^{2} = \mathbf{x}^{2} + 1 \\ & \underline{\mathbf{dw}}^{2} = \mathbf{x} d\mathbf{x} \\ &= -\frac{1}{2} \iint \frac{1}{w} dw \; = \; -\frac{1}{2} \ln(w) \\ \mathcal{U}_{1} &= -\frac{1}{2} \ln(\mathbf{x}^{2}+1) \\ \mathcal{U}_{2} &= \iint \underbrace{\mathcal{Y}_{1}}_{W|\mathcal{Y}_{1},\mathcal{Y}_{2}} d\mathbf{x} \; = \; \iint \underbrace{e^{\mathbf{x}} \cdot e^{\mathbf{x}}}_{(\mathbf{x}^{2}+1)} \cdot \underbrace{e^{\mathbf{x}}}_{e^{\mathbf{x}}} d\mathbf{x} \\ &= \iint \underbrace{\frac{1}{\mathbf{x}^{2}+1}}_{\mathbf{x}^{2}+1} = \; \operatorname{Aictrav}(\mathbf{x}) \; , \end{aligned}$$

$$\mathcal{Y}_{p}(x) = \mathcal{Y}_{i} \cdot \mathcal{U}_{i} + \mathcal{Y}_{z} \cdot \mathcal{U}_{z}$$

Undetermined Coeff's: · exponentials · sin /cos · polynomals · combinations,

3. Such for
$$u, l, u_{n}:$$

$$u_{n} = -\int \frac{g_{n} R(t)}{W(g_{n},g_{n})} dt$$

$$= -\int \frac{(l+1) \cdot t}{l + k e^{t}} = \int (l+1) e^{-t}$$

$$= -e^{-t} + \int t e^{-t}, \qquad u = l, \quad dw = e^{-t}$$

$$= -e^{-t} + (-te^{-t}) + \int e^{-t} dt$$

$$u_{n} = -2e^{-t} - te^{-t} = -e^{-t} (l+2)$$

$$u_{n} = \int \frac{e^{t} \cdot t}{-te^{t}} = -\int (l + 1) = -t$$

$$y_{n}(t) = y, u_{n} + y_{n} u_{n}$$

$$= -(t^{2} + 2t + 2)$$

$$\frac{F(n)}{2} - \frac{Sul^{2}}{2} : y(n) = y_{n}(t) + y_{n}(t)$$

$$y(x) = C, e + C_2(t+1)$$

- $(t^2 + 2t + 2)$